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NC; 21. Which of the following is equal to the area of the region inside the polar curve r = 2 cos @ and
outside the polar curve r = cos 67 R
x ] R T .
2 ; 3 vl : ] ; L
(A) 3 J‘ cos’@df@ (B) 3 | cos?@d8 (C) E,[ cos’8d@ (D) 3| cos6df (E) 3 I cos 8 46
0 - o ‘0 0 0

From 1999 Acom Book

N, Z1. The area of one loop of the graph of the polar equation r = 2 sin(36) is
given by which of the following expressions?

(A) 4f} sin?(36) a0
(®) 2[isin(30)d0
(©) 2} sin?(36) da
(D) 2(¥ sin? (36) do

(E) 2[7 sin (36 do

From 1993 BC ( 1976 = culed ne mus re Strictty Pz-cal)
NC..5. Which of the following represents the graph of the polar curve r = 2 sec 87

‘A) y (B) .y - (C) y

(D) y _ E) y
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From 1988 BC

N(,23. Which of the following gives the area of the region enclosed by the loop of the graph of the polar
curve r = 4 cos (38) shown in the figure above?

L} L] i x :
(A) 16[”  cos (30) 46 (B) a]"im (39) do O afimiqaa) 4o
i E - -
(D) 16]°, cos? (36) d6 () 8f° , cos? (36) d8
-3 ~3
| From 1985 BC

| ' - ;
NU  The area of the region enclosed by the polar curve 7= sin(20) for 0= 6= -'i"-i:

[ o (®) 3 (© ! (D) § ® 7
| .

=

From 1998 BC

(U 19. The area of the region inside the polar curve r = 4 sin 8 and outside the polar curve r = 2 is given by

. 3n sn
(A) % I (4 sin 6 — 2)* d6 (B) %J;T{d, sin 8 - 2) d6 (©) % Lﬁ (4 sin 6 - 2)" d@
- D — —_— ?
i 4 G

Sn
- 1 (6 ™ ¥ .
| (D) EJ;. (16 sin‘@ — 4) d8 (E) i,[. (16 sin?@ - 4) d@
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